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1. The government has introduced a new law that the exposure of any tobacco product on TV.

A) situated B) shone C) prohibited D) sparks

2. He tried to book the ticket for a concert the next day. But with no , all the tickets had been
sold out.
A) luck B) destiny C) fate D) crater

3. This machine is not easy to fix. Itisvery  and has many different parts.
A) civil B) complex C) calm D) circular

4. It has rained heavily for many days, and the rain has caused the  of the villa near the slope of
the mountain.
A) criminal B) citizen C) collapse D) content

5. After forty minutes into the marathon, John was leading by 400 meters  of the other runners.
A) ahead B) around C) together D) along

6. During the COVID-19 pandemic, individuals should apply social ~ methods, such as staying
at home, limiting travel, and avoiding crowded areas to protect themselves.
A) dividing B) distancing C) deleting D) decorating

7. This book is very interesting and  , and I enjoy reading it.
A) moody B) informative C) rude D) fleeting

8. According to the doctor, it will take her two months to from the injury.
A) sign B) annoy C) recover D) control

9. Many scientists believe finding a solution to this problem is one of the major  today.
A) challenges B) treats C) individuals D) surroundings

10. Drivers who exceed the speed limit on the highway willbe  heavily.
A) announced B) fined C) pressed D) researched

11. Many teenagers live on small ~ and cannot afford to buy much. They have to try hard to
save money.
A) relative B) image C) budget D) comedy

12. He didn’t say anything, but I could tell from the look on his face that he didn’t ~ of my
plan.
A) approve B) replace C) envy D) define

13. After Russia's invasion of Ukraine, more than 11 million people have left their homes. Poland
has received more  from Ukraine than the other European countries.
A) themes B) refugees C) objectives D) species

14. Jack’s faithful old dog  him everywhere he goes.
A) succeeds B) reduces C) retires D) accompanies

15.  sunlight and sandy beaches make Hawaii an ideal travel destination.
A) Promising B) Courageous C) Plentiful D) Polite



S RF RIS FEFEN - BEREFOER(FE2A £ 204)
(1)

Popcorn is everyone’s favorite movie snack. While we are enjoying this amazing and fun
food, some may wonder 16 this wonderful thing came into being. Popcorn is made by heating
certain kinds of corn. The joyful popping sound comes from the small 17 of water inside the
seed, which causes them to explode when heated. When the seed shell breaks, a sharp noise is made.
After it pops, it is white and 18 . In the US, popcorn became a popular snack in the 19th century.
At that time, not only did people enjoy eating it, they also enjoyed 19 it popping. It was in 1885
that the first popcorn maker was invented by Charles Cretors. By the turn of the century, Cretors had
created and deployed street carts equipped 20  steam-powered popcorn makers. And it fostered
the population of this delightful treat.

16. A) why B) which C) how D) who

17. A) amount B) glass C) cup D) number
18. A) fluffy B) blocked C) pointed D) stuffy
19. A) watch B) watching C) to watch D) watched
20. A) for B) on C) at D) with

(i)

Facial expressions are rich non-verbal clues in face-to-face communication. 21 ,in
electronic communication, especially text-based communication, facial expressions cannot be
transmitted naturally. Therefore, people use emoticons 22 cues to help convey emotional
meaning.

An emoticon is a written symbol, often as 2 or 3 punctuation characters, that 23 the writer's
mood or facial expression. Some examples are: a smile " :-) " or wink " ;-) " or frown " :( ".
Emoticons are often used to tell a reader about the general tone of a statement, and can change or
_ 24 the reading of plain writing. In other words, they have become a 25  resource to enrich

text-based communication.

21. A) Besides B) However C) For example D) In return
22. A) with B) on C)as D) at
23. A) stands for B) ends up C) deals with D) gives up
24. A) pour B) stack C) enjoy D) improve
25. A) popular B) ill C) deadly D) mental
S RER B LERE- BEREFOERE IR (FH2A 0 K20 &)
(1)
A) without B) free C) from D) visit E) what

The bike-sharing system is great for people who live or work in a city, such as Taichung City,
or those who 26 acity. For instance, I live far away 27  the National Taiwan Museum of
Fine Arts, where my art teacher asked us to visit a certain exhibition. If I want to go to the museum, I
will take a bus from my home to a bus stop on Taiwan Boulevard. After getting off the bus, 28
I should do is take out my student ID card or Easy Card, enter the Taichung City YouBike system,
and pick up a bike at a rental site near the bus stop. In this way, I can make my way to and from the
museum 29  producing any greenhouse gas emissions. What’s more, the first half-hour is
_ 30 of charge, and it is the best news for a student like me.

27 £ 47



(i)

A) has surrounded B) held C) in all green D) honors E) exciting

Saint Patrick’s Day is a cultural and religious celebration. Itis 31  every year on March
17th to mark the anniversary of the death of Ireland’s patron Saint Patrick. The day also 32 the
arrival of Christianity in Ireland and celebrates all things Irish. Since 1996, an entire festival of
parades and fireworks 33 the March 17th celebration of St Patrick’s Day. Enjoy traditional song
and dance, watch musical street theater shows, grab some beer and get dressed 34 as you
celebrate Irish heritage and culture. Different towns and cities host their own street parades and
celebrations that are memorable and 35, but Dublin’s St Patrick’s Day is the common favorite.

mos BRI EAHE - B L ER(FE3A 0 £ 154)

Martial arts are fighting skills that people practice for sport, for self-defense, or for self-
discipline. Most of them developed in eastern Asia. The word “martial” comes from Mars, the
ancient Roman god of war. However, most martial arts are not violent. Some martial arts are used
mainly for fighting. Others are about concentration and focus of the mind, though some fighting
skills are part of their training. That is, martial arts require high levels of both physical and mental
training.

It is believed that monks in India first practiced martial arts to encourage people to use their
minds to better control their bodies and therefore put a person at peace. From India, martial arts were
believed to have come first to China, and then on to Japan and Korea. Martial arts can be divided into
armed and unarmed arts. The armed arts use weapons; the unarmed arts do not. In the unarmed arts,
opponents use their feet and hands to strike or wrestle with each other.

Students of martial arts are commonly ranked according to skill level. They wear colored belts
that represent their degree of skill. The darker the color, the higher the rank. The black belt
represents the highest skill level.

36. Where does the word "martial" come from?
A) A Roman god of war.
B) A Korean emperor.
C) A Chinese god of fire.
D) An Indian monk.

37. What is NOT mentioned as a purpose of martial arts in this passage?
A) Sport.
B) Fighting.
C) Focus of mind.
D) Magic show.

38. Where did martial arts originate?
A) The Mars.
B) Europe.
C) Asia.
D) Africa.



39. Which of the following about martial arts is TRUE?

40.

A) All forms of martial arts are violent.

B) Indian monks were among the first to practice martial arts.

C) In the armed martial arts, opponents use their feet and hands to strike or wrestle with each
other.

D) The black belt represents the lowest skill level.

are used to represent the ranking and skill level of students in martial art?

A) Nationalities

B) Different weapons
C) Fighting styles
D) Colored belts

F4T
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